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(i) Translate the above statements A1 to A4

into clausal form.

(ii) Show that the predicate supports(book,cup)

is tiue usinf resolution.

(2500)
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(b) Is it possible to compute P(A|-B) when you are

only given P(A), P(B|A), and P(B)? Explain your

answer. (2) lra:x

(c) What do you understand by Closetl World
Assumption. Explain using suitable ex'ample?

(3)

(d) Transform the following sentence into .conjunctive

normal form: (3)

PV(-P&Q&R)
i

(e) What do you understand by Means Ends Analysis?

Explain using suitable example? (3)

(0 Is the problem decomposable.
siatement.

Just i fy the
(3)

(g) Differentiate between Model based agent and

Utility based agent. (3)

(h) Explain the architecture of the problem solver with
a rMS. (3)

(i) Differen{iate between deterministic and no4-

determinislic parser with the help of suitable
,lia6ram. (4)

What move should be chosen and why? Which

nodes will be pruned according to the alpha-beta

pruning procedure? Give justification of each.

(b) Question - Given the following information for a

database : (5)

A1: If x is on top of y, y supports x

A2: If x is above y and they are touching each

other, x is on top of y

A3: A cup ii above a book

tN

)

fiAX

la t3) (5) (01 (r) t', lr) 0)

)

l'

44: A cup is touching a book'

)
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E2: *B

G: -A

Prove that G is the logical consequence of El
E2.'

(a) Transform the following formula to Prenex Normal
Form: (4) I.',

Vxy(32 P(x, z) & P(y, z)) -r 3u Q(x, y, u)

O Draw an associative network for the following
sentences : (4)

(i) The car is red and has a powerful engine

(ii) The cake is delicious and has a creamy

frosting.

(k) Write a script for going to a museum. (5)

SECTION B

(a) Create a frame network for transportation methods

and give one complete frame for any one rype
. transportation method which includes the slots for

the main component parts, their attributes and

relations between parts. (5)

form (3)

P -+ ((Q&R) <+ S)
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(b) Draw a pictorial definition for the linguisiic variable

TALL giving your own subjective values for TALL
variables and their values. (4)

(c) Explain the following sentence'as conceptual

dependency structure.

"Susan gave the keys to Peter".

(2)

)

(a) Consider the following game tree in which

static scores are all from the first player's point
' of view: (5)

(c) Express the following structure as a conceptuai

graph'structure:

P. T. O.

(b) Transform the following into disjunctive normal

(2)

(c) Given the formulae :

El: A-+B

(3)

)

)

2.
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3. (a) Develop a parse tree for the sentence "I saw

the man with a telescope" using the following

rules : (4)

S.>NPVP

NP.>NIDETNINPPP

vP->vlvPPP

PP .> PREP NP

N -> I lman ltelescope

V -> saw

DET -> the

PREP -> with

(b) Draw the RTN to implement the grammar given

above. (3)

(c) Write schemata for default reasoning using the

sentence: If someone is adult and it,is consistent

to assume that aduhs c6n vote, infer that person

can vote. (3)
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4. (a) Give the similarities and differences between Best

First Search and A* algorithm. Under what

conditions A* algorithm provide an optimal

solution? (5)

orrl o
(b) Using Constraint Satisfaction algorithm. Solve the

following cryptarlthmetic problem. (3)

TWO
+ TWO

I FOUR

(c) Differentiate between a static and dynamic

environment of an ageut. (2)

) ) 
1u; fiptuin the following terms with respect to fuzzy

s€ts: (4)

(i) Dilation

(ii) Concentration

(b) Write a Prolog proSfam to implement GCD of two

. numbers. (3)


